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. 70 1nterms of percentage is B AP 2_76 (6]

, 20% (D) 20 (© 35% B) 35

The lowest form of 75:95 ig ¢ q-W" SIS 75:95 | (O

f 17 :15 M) 19:15 (© 15:19 ® 15:17 W
I On crop produced on natural resources Usher is deducted at the rate of PRV AN AY )’4J" s e gisda | 3)
i 20% (D) 10% (© 5% B) 25% (A
| Wl K s e S AR Sozr S | @
. If there is one daughter and agnatic grand daughter, their share are respectively

TR P = ;.3 ® 11l

Loss is there when i i )’Tq_rffuw’ )
SP>CP  whjed > 4ied (B) SP=CP ohjed = Lid)
SP=MP osjed=cdus (D) SP <CP  osyjed< L3 (O

The return earned by the bank on loan is named as L e r/ Sebal irge ] | (6)

? Profit Ci (D) Bomus ¥ () Markup .if4 (B) Premium PLIN
| A machine installed by the bank to dispense cash to customer is called PR I B T A ARG
' ATM r-’ldz...l (D)  Cardreader .4,34(C) Scanner A @) Computer 2w (A)

| The taxin addition to the price of the article is called wgﬂﬂdwl.:_-écfzf ®
Excise duty Jz7L5 (D) Income tax A © Salestax L B Tax L)
The tax charged on all taxable income is called q_z-u(z..@glﬁ;d,u'u-?d:u'rﬁz i | ®
Excise duty J 7141 (D) Incomctaxu‘gﬁ (C) Direct tax Feiuy (B) Sales tax KW
In 4 4 iscalled wdyfag s | Q0
Radical . (D) Integer .8 (C) Exponent Ued (B) Base it (A)
| Nextterm of 12, 16, 21,27 is tetPit12,16,21,27 | (A1)
| 2M 31 © 30 B 34 A
G.M between -3 and -12 is Ce Il Y 212 -3 (12)
| 16 M +360 +9 ® +3QA
| ANBY =7 (ANBY =7 | (13)
AUB D) ANB (© A°UB® (B) A°NB° (A)
| For x=1in2x+y=6, We have y =7 y=? «i&, x=1 2x+y=6| (14

4 (D) 40O -4® 8W
_.,-.ru/,_.}'z..yggﬁﬂJJUIfafﬁf&/uﬁerujfl as

If all members in a set added together and then the total is divided by the number of sources in the set is called
Weighted mean sstis (D) Mean £+1(C)  Mode wb (B)  Median s (A)
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Q NO.2 Write Six short answers to the following 2X6=12 _Z-‘»(/ L Y Ly geflitn 240y
Express 48 % as fraction in lowest form ZLwRr P 48% | 1
I A XY 2Rk
'_Express 2 fraction as percentage, giving answer correct to 1 decimal place J
In what ratio 60 m? be decreased to 24 m? ? e Lol 18, 24 (128, 60 LS | 3|
Define Ushr Zuld ¥ | 4
Calculate Zakat on silver amounting to Rs 3,00,000 -.ir;h’fﬁwl?ng; 3,00,000 -:b!ld’di&/ s
Find the CP , when SP =Rs 100 , Profit =33 1 % ZEersreddn 33= %=0p0 100 =511 | 6
;Fmd the marked price when SP =858 , Discount 12% &2, 858 =3/ 12 % = ok .G . Lo dln | 7
Define Profit | 2y |8
Define pay order i |9
Q.NO. 3 Write Six short answers to the following %6 =12 ez P Lt gt din 3 A
i’ﬁut"dug;a":ut‘utdb.g?.wLm__u 1000 sk feLie g 2B 010 % A1 | 1 3
If we invest Rs. 1000 in a saving account @ 10 % profit per year . How much amount we have in one year ?
What is property tax? 7..,-_;,@-? 844 2
Define direct tax. ZEa Sy, | 3
Write 0.0000281 in scientific notation ' & 22550/ 0.0000281 | 4
If log 6374 = 3.8044 write the value of log 6.374 -,ép‘".:—&f log 6.374 7x log 6374 =3.8044 /1 | 5
| Solve log(x-2)=1 LS logx-2=1|6
Write the first three terms of a, = 3n-5 - Zgt e, =35 | 7
Find the terms of the given sequence :1_:- ZE s e 85 ér)"? S ds | 8
| Find G.M between 2x and 8y* el fe sl 8y a2 x| 9
Q.NO. 4 Write Six short answers to the following 2x6 =12 E iz Lot ge Bl A Ay
Define union of sets Sel Vel Wure | 1
IfU={1234,567)}, A={3,4,5} find A°="? ek A InA ={3,4,5)5 U= (1234567} i | 2
ANBNC) =? I» A={14,78}B={4,689} .C={34,57} Ji| 3 |
If A ={1,4,7,8}, B ={4,6,8,9}, C ={3,4,5,7} find ANBNC) =?
Represent the points E(4,4) on graph paper Lo/ B4 | 4
! Gard LG QL 15 oo -xi9a | S
Write down the coordinates of a point on the left hand side of x-axis and a distance of 5 units from the origin
Convert 113 °F into °C ZdrL°C /13F | 6
—\;hat do you mean by mode? Tedd et | 7
Find geometric mean (GMD of 2,4 and 8. Zrrual N 8 42 8
Define the range ey fler | 9
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NOTE : Attempt any THREE questions from this part 8x3 =24 _2! SIrLdfeton )

W E st e srE LU 4050 In Lss 6750 dSusiz 15 LefT
The price of 15 suits is Rs 6750. How many such suits can be purchased by an amount of Rs 4050
Zew P s 3,50,000 BAS S g e Ll
Calculate Ushr on a wheat crop amounting to Rs 3,50,000 produced by artificial resources

(A 54U

(B)

AP 15% clSeS s ped cng b tess 1520 b Linbhnd]
A shop keeper pmhasc a fan for Rs 1520 . At what price should he sell it to get a profit of 15 % ?

St b BL L S0 s150 Cronke @ foik 6% L& pEe 1250
How long would Rs 1250 have to be deposited at 6 % per year simple profit to gain Rs 750 simple profit?

(A)- 64U

(B)

s d d i IS Lisi i) tsingss 18000 dtusqutnkfiogetint€ 16 %2 X qusid
A sales tax of 16 % is imposed on television. If the market price of the television is Rs 18000, calculate
total amount one has to pay , if he wants to purchase it
Evaluate G+ G x27 & x2S

(A TA U

B

Find the specified term of the given AP. 9,14,19, ....14%term  9,14,19, — (o/Fuss 142403
e ANAT In A ={2357) s U={1,234,5678
If U={1,2,34,5678} and A = {2,3,5,7} then find An A°

(A)- 8Uir
®)

Draw graphof y=x+7 g.ﬂfl’ y=x+7
Find the standard deviation for the values 1,2,3,4,6,8,11 ErP o fiind L 1,23,4,68,11 47

(A>- 94U
(B)
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1Ay
55 in terms of percentage i £PEA Z]
20% @) 20 © 35 (B) 35% @A
Inaproportiona:b::c:d, ‘b’ and‘c’ are called BELCw D L A atbuc:d| @

Consequent <£/(D) Antecedent w:ds*1(C) Means o) (B) Extremes o4/ (A
0378 4400 150000 S Sp S Gsge Bisdis | B

Ushr on a wheat crop produced on natural resources of Rs 150000 is
Rs.20000 (D) Rs.15000 (C) Rs.5000 (B) Rs.10000 (A

Zakat is deducted at the rate of el P PSS IGS | @
25% M) 35% (© 55% @B 45% (A

Profit is earned if . Siery el | (&
SP=CP wbjed = s7af B) SP > CP e3)ed > wred (A)
SP=MP oiyjed=aipg D) SP <CP  wsjed< pied (O

The amount which is paid by the bank on deposits is called G el e tfiif 2 b IS | (6

Markup iS4 (D) Profit Ot (C) Bomus % (B) Premium £¢(A) |
The periodic installment to be paid by the insured is called @ Sz sluP | (D

Bonus (4 (D) Markup /4 (C) Premium £¢(B) Discount >s(A)
B e rfnErenlsr i Ligles” | ®
The form of tax which the buyer pays on a manufactured item at the time of purchase is called
Excise duty 3g7L5 (D) Salestax <X (©) Tax v B) Income tax o-Z/1 (A
.;a:;{aq_r,kfd’t.:_.ﬁm@mgé‘/@:;zw?u 9
The tax charged on owner of a land ;house, flats or building is called
Indirect tax o€ 41, (D) Direct tax yZ=ims () Income tax £ /i (B) Property tax o~ g¢ (A

In 2" 'n is called L2/ n et | (10)
Base v (D) Exponent V=7 (C) Radicand .y (B) Radical . (A)

For 2, 6,11,17...., & is - e=df a5£2,6,11,17.... 1D
21D) 22 (© 24 B 30 W

G.M between -3 and -12 is q..lml.éﬁc}?nﬂ <12 =31 (12
+t6 M +360 +9 ® +3W

(AUB)® =? (AUBY =7 | (13)
¢ M (ANB)F(C) A°UB® (B) A°NB° (A

For y=2in2x-y=6, We have x="? ' x=? &, y=2,L2x-y=6| (14
2D 4© 2@® 4W

The score which occurs most often in a set of data is called < W LT2 pihicmrirS et | (1)

Mean 4+ (D) Geometricmean &) (C) Mode b (B) Median ks (A)
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Q.NO. 2.Write Six short answers to the following 2X6 = 12 F e Lot geddits - 240
Express fraction -;-as a percentage - %{J‘F FLYdS % 2l
Express ratio - : 1; in its lowest form 7-‘7’( Sl L. % = | 2
Simplify the ratio 8:12 in the simplest form LR PLAT 812 o | 3
Define sahib-e- Nisab Muslim S bl | 4
Define Usher Ay iy SN
Find SPwhen CP=Rs.950 , Profit =10 % 950 =sied 10%=0 G phrasjed | 6
Find the marked price when SP = Rs.2400, Discountd% ¢_s, 2400= =531 jd 4% = wof 5 Lot oo | 7
Define Profit YA
Define bank draft. Ly Jlenst | 9
NO. 3 Write Six short answers to the following 2X6=12 é‘-{;ja,uﬁ/ﬁé.:.mrg.—_ud;t}bn 3 Ay
What is meant by commercial banking? tei e BeS S]]
Define tax w5 2
Define property tax L S| 3
Write in radical form and solve (Bi)i ~2£J’/JJ;PJ:J;!’(81)E 4
Simplify 1—_2-;-;{-;—-; ;f';—:% -k
Write 0.424 in scientific notation Lrlisf0a4 |6
Write first three terms of a, = 3_1n ’%};-}'J‘_-f AT 3—1n 7
Find 5" term of G.P in which a=2 ,r=3 or=3 ma=2 LALrP it Au | 8
Find G.M between 2x* and 8 y* ekl o sl 8y 2xt | 9
NO. 4 Write Six short answers to the following 2X6=12 g{ff Sy [__-.mrgc_utd,sb» 4 AUr
What is meant by union of sets Sesl Ve o Wure | 1
IfU={1,23,4567}, A={3,45} findA°=? A°=? Z»JnA={34,5},U=(1,234567}/1| 2
Find C x C when C={1,2} CxC ixC={1,2} S| 3
Represent the points D(6,-3) on graph paper & ,fw.;@dl/ /D (6,-3) 5 4
Define ordered pair - e Waeirsy | S
Represent the points G(0,7) and H(5,0) on graph paper LysI/THG,0) 5GODE | 6
What do you mean by frequency? Sestpfansd | 7
Find geometric mean (GM) of 4,2 and 8. Ze ol K 8124 | 8
Find the range for the set of data 10,18,9,6,22 L er§10,189,622 s | 9
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NOTE : Attempt any THREE questions from this part 8x3 =24 ‘:;‘f Sl J.f e Lol O
SSLLT e/ K770 Loy 28 W L1 8ukep/ K 63 2014 | (A)- 54U
14 cows consumes 63 kg of hay in 18 days . How many cows will eat 770 kg of hay in28days at same rate?
e A oK L tigrs 2000,000 AT S Fune i zmme Ll f L)1 | B
The inherited property amounting to Rs 20,00,000 is left by a deceased. He left behind a widow
and two sons .Work out the share of each
a3 I =31 p s 6850 S4d iess 6590 kLl | (A- 64U
A television is purchased for Rs. 6590 and sold for Rs 6850.Find the percentage of profit.
e LU 14 % LA L L L4¢3:2,50,000 | (B)
Find out the compound markup on Rs. 2,50,000 for one year at the rate of 14 % compounded annually.
_ et e b A Aol pii s el et gl i | (A T4
Khalid works 6 days a week. Find his gross monthly wage, if his rate of pay is Rs.200 per day. '
Show that 3logd4+2log5- Tl log 64 - -2-1— log 16 =2 _a_f{:.-.l:‘ B)
A IV Rl RN CO LN C L L7 | (A - 84U
Find the n-th term ofan A.P. (=) °, (), (-133) 2 L.\
ANBNCI=ANB)NC ziew ir C={23,4,56) ., B={1,3,57), A={23,5,7,9}.1 | (B
If A={235,7,9} B={1,3,5,7} and C = {2,34,5,6} thenprovethat AN(BNC)=(ANB)NC )
b3S ¥ C(5,3) B(-6,-3) A(7 215 | (A)-9Uir
Draw the graph by plotting the points A(7,2) B(-6 ,-3) and C(5,3)
-zfr:"’»nqvb’uiq_éus&to0«»:4'..,;3600:914200:9;4500@,»3800«,:.:3500«'_;;4000%.::3OOOJ»B:I/“'JLJ::JU’T (B)

The total monthly income of 8 persons are Rs. 3000, Rs. 4000, Rs. 3500 Rs. 4500, Rs.3800, Rs.4200
Rs.3600 and Rs.5400. Find their arithmetic mean
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